R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 607\Drawings\Current\TX-4220-21.dwg, TX-4220

& Endura

P R ODWUCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debiris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Hurricane)
Door panel details {lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Frame anchoring

o~ |W[N

73.94" MAX. FRAME WIDTH

81.69" MAX. O.A. FRAME
HEIGHT (INSWING)

80.88" MAX. O.A.
FRAME HEIGHT (OUTSWING)

o,
0w
FEp 0
Jo - 14
E;: 0 H
S m z
ou O o
28 2 N 6§
o L@ o
c & - |
6% 0® <
v Z2 00 2
cE- gty 9
> Hto 0
2 o9
a>v {
Zowo %
omn? O
5‘ ON'c; &
O xZ
o o L
z
- o)
s 592 ¢
& Dox g
: X °
2
[=4
S 2
[A]
3
3 (=
o
a

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
BY

XX

INSWING

+30.0

5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

NO.| DATE

2
1

REVISIONS

OUTSWING

+30.0

oATE: 9/06/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4220

SHEET 1 oF 6

© zo12 R.W. BUILDING CONSULTANTS INGC.



"ON| BEANVLINSNOJ aNIgling "m"a Z2log [@)]

SNOISIATY
ZS8LL—d # NOLLVMLISIOZY 40 ILVOI4LUN3ID AMZ«\O\N\KDI m.:\EE.I_DV 3Iva TON ~
SYHIIANIONI TVNOISS340d8d 40 Quvo8 SvXal SVIFA TVOVHLISY Mxl.m TS ONLLYINJILYY a3aav )v_.\mO\_‘ i ﬂ S M % m nm_
LBLE'6S9°CLB 'ON euoyd : VOVaISY M3N aavi Si/z0/c 1 z 1o = = RN
S6SEE 14 OSMIPA O£Z X08 ‘O'd \Sv\m&. ANBNISSY ¥O 18Vd | ST 3dNIdVO Nid Tv9 A28 2 =z s Y 2_
*ONI ‘SINVLINSNOD 9NIgTINg o W wm o _va
" T E G
. V4NaN3 bl2|e|y|E &
3'd SvX3al -
.mm&umwhw.ﬁum *4 uopufi :Ag peJodeuy sjuswnosoq :10Na0yd S| & z 5|5 &
=
<
s A
W09 m
. :ww_..wm \S ﬁMV
. | <
[ (EH_bod ] e
(%)
<
WOLOd
5 -
D 3
N«
%lﬁ * :
2
o0 » ﬁ m W
° [ e 4
i 3 &
3 By 2
= <z OE
w5 = M =4
« | | [ay-w M T <
o [
Q
5 =
2 o
«© @
- Q
F " M
= E..w D
3 . 8 M
z O
o =
< O s
v
2 2
T T
° |D| o
g ™
2 -
5 © o
2 2 *
0 X
=
<
gl 3.
g )+ Z3
0 ) 5 3 3z Sl 2 NE
o _U B A uif'e
z N S ; 3|2
O < () P
| = & Q= oz|Y
h (0] L, | =1 52)
= o g eJ 58 S|%
o (™ Ol - |
= o= =
O w|<C W
= % 8= 050 —=
= N a
>
| \7’
O —
i
: <
wn -
N
<3 2
N <
('
o + - T
g <
i 3 §9T — o
N a
S < * p
) I3 S
° < S in
oo H-1 == L N
| g|< -
i L £ -
» I E -
E =
2R g g < <
N AN z « =
Vv 5 3 =
g Q =
- L
_ g o
dOlL @ P

Z-T '‘BMPTZ-02Zr-XL\suaLInd\sBuimesg\£09 - IQ.L\sU] JO 3daQ sexa I\ININVINYId BINPUI\SIUSID\Y



ud

aq
INTERIOR ,, : 85, Bu
12" e S Gl 31" 12"~ 175" = A IED W £+ g g8
T b i0ie 20N |8u B ET
, TOP RAIL SuigiFion il byl |Ne £ N
* (POPLAR)ﬂJ—lE @7 B TW i 2 et w -Ejj:_ f:ﬁ
| S swi 7S E s3 L0522
s . d oran 101 KeA\ |2R 282 83
R ES = \ W, D > F50 nE
T ‘ 233 ;‘Z Lo YT p>M ﬁé
! / / 2282828 Wy i {0 Zgh 50
&N T oo & O Eﬁ

o o x
Z EXTERIOR FOAM CORE —_ | T O£8, 5y
HINGE STILE (POLYSTYRENE ) & 508 Bu
(POPLAR) 12 LONG LOCK STILE £ B&E g%
LOCK BLOCK (POPLAR) 2 oE
(PINE) g 35
: Fe
/1 "\ HORIZONTAL CROSS SECTION g
\3/

)
n=Z
=N
<

03
35.75" MAX. @\\ g b
PANEL WIDTH 8 3 §Ld)_|
IS

]

21 | INTERIOR RS
D.L.O. WIDTH ITERIOR EAIERIR B x| Sa
e =
3 |t
3 #6 X 1-1/2" PH SMS 1831: 5
GLASS BITE 7/16" L1205
INTERIOR W
1/2" NOMINAL GLASS THK. == =
IE_mluuu.//////l/m-) %
| / 1/8" TEMPERED GLASS (Osgggﬁ f,m o
O I e~ ARSPACE THICKNESS) TP |y
ou <9 < . 22 |
W =¥ 3 — K 1/8" TEMPERED GLASS 35 12
2z 2o =3 =
== [BI n|o| (W
== = STEEL SPACER 219 |&
o~
~ & = %
EXTERIOR Q'SO SEALANT |
L
LOW TACK SEALANT 8|5
BOTTOM RAIL I o+
GLAZING DETAIL PINE) — ~ om0 —1 = NN
G1 Hip Lite Insert Glazing (RSL) [FIE) ~—1 3 §§g
§ -
, —H L
Z,
CREST owte: 9,/06,/12
SCALE:
insert glazed /2 VERTICAL CROSS SECTION NT.S.
(s’re e” W DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4220
SHEET _3 oF _6

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 607\Drawings\Current\TX-4220-21.dwg, 1-3

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 607\Drawings\Current\TX-4220-21.dwg, 1-4

1/4" MAX.

0.15"
SHIM SPACE ~ CSINK
EXT. SHEATHING 7 (TYP)

2X FRAMING e — #10 X 2.5" PFH WOOD SCREW
(G >=0.42) —\
JAMB
4 ENDURA WEATHERSTRIP
(QEBD/PE 650)
INTERIOR

X

\ EXTERIOR
#8 X 1" PFH SMS

4" HINGE

DRYWALL —/

#8 X 2.5" PFH WOOD SCREW —/

#8 X 3/4" PFH SMS

/1" HORIZONTAL CROSS SECTION
w Inswing shown - Outswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

X S X
el
| \
|
/ \ ~~ DEADBOLT: KWIKSET SIGNATURE SERIES
/ // / // | (980/985)
/ / ™~ LATCH: KWIKSET SIGNATURE SERIES
(991)
> d
CORNER PADS (TYP.)
2 3N ANEN
NSNS/
ULTIMATE HURRICANE ASTRAGAL
ENDURA WEATHERSTRIP
(QEBD/PE 650) / DOOR PANEL
-
N i

#8 X 3" PFH WS
#8 X 1" PFH WS

m HORIZONTAL CROSS SECTION
4

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

HORIZONTAL
CROSS SECTIONS

LFS
BY

5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

—

NO| DATE

2

REVISIONS

OATE: 9/06/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4220

SHEET 4 oF 6

© 2012 R.W. BUILDING CONSULTANTS INC.



il 2X FRAMING o

— < o EXTERIOR / INTERIOR - g
¢ 14 / = \ 29 0 ﬁg
'L NEL J(:EJ;; .§ Zc
hil DOOR PANE Su 6B &7
EXT. SHEATHING ' a DRYWALL \ e = ; G 6
\' f e /_ ENDURA DOOR SWEEP 53 £la 37
dINE( . n (DBK-ZAC) 'g|_ 'E_ sa ég
it = ENDURA THRESHOLD > 558 ok
. L—#10X 2.5" PFH >0 U
. A (Z-SERIES INSWING ARTICULATING 2 e Lb
4 MAX 1) b T WOOD SCREW SILL w/ PIN CAPTURE) 5 8% Eg
. I #LACL4565 (shown ©xz %
SHIMSPACE — ~~__fLl 9 ishown) B OZa, Sy
Zg 8 568 Bu
SR ﬁ £ ade g
2] [
t E
DOOR PANEL 1 | g 35

HEAD 5

ENDURA WEATHERSTRIP v g

\QEBD/PE: 630) #10 X 2.5" PFH WOOD SCREW =

Lol

\ 1/4" X 2-3/4" ELCO OR &

EXTERIOR INTERIOR ITW CONCRETE SCREW =

m 0 DO:

1\ VERTICAL CROSS SECTION 3 ) VERTICAL CROSS SECTION RS

W OuTswin e \y Inswing configuration -

g shown - inswing =

also approved .. o

B &

2 Y

2
[a
INTERIOR |55 pANEL EXTERIOR EXTERIOR /] INTERIOR EXTERIOR i INTERIOR ol
- ~
ENDURA WEATHERSTRIP x 1\

(QEBD/PE 650) DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP \
(Z-SERIES OUTSWING) (DBK-R) (DBK-AC)
(Z-SERIES INSWING ADJUSTABLE) (Z-SERIES INSWING ARTICULATING) o Sy
. i A
\ ' :

ZAI4565FN (shown) _\ ZACA4565FN (shown) )
=P -

Y

7

N

REVISIONS

5/07/15 |[ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

AWM

S 3
- v NEE
#10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW —y /122
1/4" X 2-3/4" ELCO OR 1/4" X 2-3/4" ELCO OR '

1/4" X 2-3/4" ELCO OR SCALE:  N.T.S.

TW CONCRETE SCREW ITW CONCRETE SCREW ITW CONCRETE SCREW P— W

CHK. BY: LFS

7“2\ VERTICAL CROSS SECTION 7“3\ VERTICAL CROSS SECTION /~ 4"\ VERTICAL CROSS SECTION DRAVING N

@ Outswing shown w Inswing configuration \\5/ Inswing configuration TX—4220

SHEET 5 oF 6

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 607\Drawings\Current\TX-4220-21.dwg, 1-5

© zo12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 607\Drawings\Current\TX-4220-21.dwg, 1-6

o 2X framing (by others) L u "
S55% N .
Fol - ) \ ' g 0 w1
=0 ) 5 ¢ Astragal Strike Plate O E M 8 22
S 0 . (TYP.) @ Head Jamb L]
a (TYP.) 6 w = g b
1 h e # 22 g5 T
- o m’ Tw 209 56
] = 2 0 = > Hsae oE
SEE HINGE —__ |- - T ‘\\ Y S fe g>o {f
- 3 T \l “ 1) 12}
BEAIL EH T #10X25'PFH || \—DETALT X & dwwxx»f‘ % 8%, g¢
— [
i WOOD SCREN = #10X 2.5" PFH WS 3 25% s,
> | (TYP. @ HEAD I 1l & R
AND JAMBS) DETA". ' O‘% mg §g
- [} i
0 \ I 5 e
[=o] N 7]
L1 3 #8X 2-1/2" PFH WS & 53
P T | — % 8
® - ®
" - - ®
SEE HINGE I #8 X 1" PFH wsé:. (o2l =1~ #8 X 3/4" PFH WS
DETAIL 2 | | _ ~— 4" X 4" HINGE
\\\ (ZD
L | ;| f
DETAIL2, 30R 4 =~ HINGE DETAIL 1 > g O
0O =) |
. ' L] W . o g
% /#8X2-]/2 PFH WS g =
o L[ © | g 5 -
£ (TYP) —m #10 X 2.5" PFH WOOD SCREW . éa Lilofl_| 3 .
2" (TYP.) 1/4"X 2-3/4 ELCO OR #BXT'PPHWS <o | Tl SIF=r= #8 X 3/4" PFH WS < <
HINGE JAMB ITW CONCRETE SCREW — 4" X 4" HINGE n|n
(TYP @SILL) \ 2|2k
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING v
CONCRETE (MIN. 3000 PSl) XX &
WOOD (G >=0.42) HINGE DETAIL 2 2
5 3
59 |,
O
3 £
33 2
blo| @
<|=| |&
=<
“l2
CONCRETE ANCHOR NOTES: Qe
1. Concrete anchor locations at the corners may be adjusted fo maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW 2=
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR o
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo [TW CONCRETE SCREW h}'ﬁ
maintain the min. edge distance to mortar joints, additional concrete anchors 1/2" DIA. HOLE (IN CAP) Sg o
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2" DIA. HOLE :
3. Concrete anchor table: \ = =2
= X (®
o Im, .:j:'CLEARANCE N X = - ® e ) - foo o = - ASTRAGAL PIN DATE: 9/06/1 2
N~ % < CAPTURE SCALE: N.T.S.
COMPONENT —— UK
\J 1] - A " (o] J . LFS
TAPCON® | 1/4 1-3/4 2-1/2 3 DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4 e
ELCO " . N N Outswing Inswing Inswing Inswing TX—4220
uLTRACON®| 1/ 1-3/4 1 2
SHEET _6 oF _6

© zo012 R.W. BUILDING CONSULTANTS INC.




